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HARYANA SSC MOCK TEST-3

In a certain la.l_'.I.EuH.E_I:. ROAD i..B wrjtf:n as | |, oF fiv=9 Tz W 4 ROAD 1 ORDA =7 7,
Sﬂﬁam:;u; will DATE be written in the F =t W § DATE 5t 58 foms 47
(A} ETAD Bl ADET 1A} ELAT i ALIHE
A B IC) DTAE (D) EATD
[C) DTAE D} EATD g e
2. Shoe : Leather : : Table : ? 2. Fe: e £
[A] Chair B Bed () F {B) faem
(C) Furniture D) Wiod () FeT= D) =t
3. Deepak ranks seventeenth from the top (3 ovE sy AdAdmF AT 17T T 49 © 49
and fortyninth from the bottom in a classa. ERiE ERc E tE
How many students are there in the class ? (A} B4 {B] 65
©) o6 o) 6o i W SR
7 = : 4. TH HEMW oY1 HeEw =g &1 FET Ay
4.  ERama is the daughter-in-law of Manish and - g -
sister-in-law of Mahesh. Shushil is the son Tﬂ w & w1 W W da ¥ W
of Manish and only bmthrr nl’ Mahesh. H = =@y 12
Rama is Shushil's __. e A) m B =7
[A) Sister-in-law ﬁ-‘m (CF =i (D) =
(C) Wife -iD} Riece 5.5 7 W 991 9 9 quE I om ws?
5. Select that figure ﬂf’&la} SRt th = mﬁ;ﬁ :
series
A ﬂ!h Va
1 W v
6. If ‘oranges’ an & “Af it
‘apricots’, ‘apples %
‘oranges’ and ATYa : fi—
which of the l'r:ul.luwmg are green in :a'luur ? ic) e D) =
[A) Apricots (B) Applcs 7. WL+ M« _F ad &, x T oA . T . W
{C)] Chillies () Bananas ST ﬁ"‘—T 3 Ié ’ :
7. H+isx, —is+ =is + and + is —, then 3__2_;_'4 zmqg_?-{l
answer the fallowing question : el St e
3%2+4-2,.9=7 :‘g"' :g};
A -1 B 1 R '
C)— o) 3 ; 2
[ : ;
8. Statements : Fa F W L
Some dogs bark. A T WA B
All dogs bite. TR -
fﬂﬁ“ﬂﬂgﬂ T L WIS AR L I
e TR TS W 10 O NS WD v I IR AF I L A E R AL
Il. Those dogs who do not bark, not 3 54
necessarily bite. 1A .i .[ e il Tﬂ.ﬁ_ !
[A) Only Conclusion [ follows. (B} =+ = 11 = Bkl #
[B] Omly Concluaion 11 follows. 1C) = & 17 11 sgeem Fad 1]
[C) Either I or Il follows. (D) 0 & 1T 11 =T i
[O) Neither 1 nor 11 follows.
|
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9. Find the number of triangles in the given | 9. 3 7o f=3 | fag= &1 oo 78 0
figure
[A) 10 (B 19 :EJI ;? :?;E ;g
[cy 21 (o 23 : p

10. Find the missing number in the foliowisg | 10 77 73 7 99 wow o8 ¥
figure :

O B
iad [ 125} 64
25( 16
iB) 214
[4) 121 216 D) 220
[C) 216 ﬂaﬂqmnﬂﬁwa‘m

11. Which one of the g L it
a meaningful ord
1. Absorption
3. Nutrition
(A} 3,1,2. 4
[C)3. 4,2, 1 ;

12. In a certain cod ot b.EJ ‘tl CE Y ‘dancing
means ‘singing is i e singing and
means fda = 5 H good' W
means ‘g
of the followin,
language ? i
[A] mot i
[B) min 15) by
[C] baj (D) A & = W
(D} Can't be determined 13. A wea A W 959 & WR W R G

13. Which number should replace the question ot

i i 9
mark in the following table * T, 5 3 3
L 3 2 13 | 7 5 4
13 7 5 4 & 12 5 3
el 121 8 | 3 10 | 6 4 ?
Eg]]'; 131 g IC) & D) 7
14, gum F fF 137 famd e 8T T IR A 7

14. How many 13%s are there in the series which 7

are preceded by 8 and followed by 7 2 =)
Bl137813783 78137813787 813781378378137813787
813787 B13787
(4) 1 B 2 ) 1 | 2
[C) 3 o) 5 IC) 3 D 5
|
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15. Abiranjan walks adistance of 3 km towards | 15, = 3 (5% 7@ 31 o &% 8, 7™ = 99
North, then turns to his left and walks 2 mﬂﬁ.milﬂﬁgﬁ:?ﬁaﬁ?ﬁm?ﬂt
km. He again turns left and walks for 3 km. : .
At this point he turns to his left and walks 3“&“:"““3“3?3 ta:_tﬁmgs_;;
for 3 km. How many kilometres is he from 3 oL = ) SRR T 0 9% faae AL 30
the starting point ? 1A 1 = iB} 2 =,
i#4) 1 km (B] 2 km (C) 3 =+, D) 242
[C) 3 kem D) 242 km 16. =72, 5, 14, 41 & =l wem 2-
16. The next number in the series 2, 5, 14, 41 (A] 123 B} 121
is |C) 122 (D) 124
[A) 123 B 121 17. 101 M 300 F $= fF7 oo € T3 WS
(cy 122 (D] 124 A R £
17. How many numbers between 101 and 300 IA] 13 B 14
are exactly divisible by both 3 and 5 7 C) 15 D] 16
(4.13 ) 14 18, 10% %= % ﬂﬁﬁ'ﬂﬂﬂﬂfﬁﬁlm
[C) 15 o 16 P
18. The price of a pen after a discount of 10%, ilpsnadl i
131:5. ﬂi‘lmtiaﬂt:ﬂrig’n;]pictufﬂ\:pm? :gl';ﬁ :g}] ;f?S
(A} T 50 B8] ¥55 — it
() ¥ 60 ] ﬁ.mﬁﬂmmﬁmm@mam
19. A cloth merchant cla FAAE FAF TEF Hier 6 06 B F F) TEE
price. However hi iy w2
long. His gain per (A] 4.5 % B 4 %
[A] 4.5 % i
1 (Y 4.05 %
[C] 4—"%
il
20. The ratio of income
person is 12 @ 10808
annum, his mo
[A) ¥ 8,250
[C) T 9500
21. The average
increa
weigh !
person_{The weights ]
(A} 68 kg =
(C) 64 kg [
22 HWp:g=T7 4 i Cy BT [ .
Eg]ig ; 13132212 23, W F emfee 5 fAwe ¥ 2 99 mme F R, L0
: ] = 4 20 = # Fr & A {509 e
22, I two typists type 2 pages in 5 minutes, # M?m e
how many typists are required to type 20 el
pagea in 10 minutea ? :E]I ?u :g'i ?1
(A} 8 B 2 B R
(€] 10 D} 11 24. 6 FosAEd 4.5, F, 9 wma oA 30
24 If the average of 6 numbers is 4.5, then the % fawf=A #m-
sum of the numbers divided by 3° is {A] 4.5 (B) 3.5
[A] 4.5 B 3.5 ich 2 . o] 5 . ;
[c) 3 o 5 25, UE AT F HEOE F 60% T T T ST T
25. The length of a rectangle is increased by W?ﬂﬁ'iﬁmiﬂ‘#ﬂﬁﬁﬁmiﬁﬂ
50%. By what percent would the width have o T
to be decreased to maintain the same area ? i
1
1 L
[4) 3'?5% B) 60% (A} 3?2 * s B
2 C) 75% D) 66> %
[C)] T5% [1n]] 663% () (D) 3
|
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26. A train 132 metre long passes a telegraph | 26, wF 132 & Wt v et ® w90 F 6 TS
post in & seconds. The speed of the train is: # up T =@ S F I -
(A) 7O km/hr (B) 72 km/hr A) TOfE R/ (B 727 e
(C) 79.2 km/hr (D} 80 km/hr (C) Ta.2f&h/ 9 (D) a0 fEd YT
3
27 T th of a number is 19 less than the original | o7 wFwem = Emmﬁ 19 F9 &) e -
&
number. The number is {A) 84 B 64
(&) B4 (B) 64 (C} TG D) 72
[C) 76 (D) 72 28, 10% 9F == w8 v fAyEE 0w i e
28. In how much time would the simple interest H T 0,125 T F =
on A certaim sum be 0.125 times the i 5
principal at 10% per annum ? Al 1— 1= a8
; . (a) 15 =¥ B 13
A) 1— years B) 1— years
oy |y ) 2L =% o) 22 =4
4 4
1
[y 2; YCars ; --.||7+_4-.I'§ =7
e 1
29. =7 : + i, ol
T+4/3 -2+ 3 : By
C) 2- 4+
a2+ € 2- 3 0 4+ 3
M i1 (6.5=6.5-45.5+3.5= 3.5)
(€1 2- 3 e Yo
30. Simplify : (6.5 = 6 15. .5 g iy
& T | & 1 T=IYE Ft wEE TEn
[A) G Sy e 2 e
7 L :
31, At which of
famous battle d |
(A) Kurukshet oY Ft vEE 4=
[C) Pa
32. The Constitucht
India had its fins
[A] December & L4 - =P
[B] December 9, 1946 |D} 22 B 1947
53 Tteanbion. &y 1ot 33. 15269 T 3w len =9 % 99 wiog T
(D} December 22, 1947 T T
33. In 1526 the famous battle between Babar -E a0a
and Ibrahim Lodi was fought at— (A = (B) :
(A} Kurukshetra (B] Rewari IC) T (D) A
[C) Panipat (D) Patiali 34, W F 9x AW U O FoF T W -
34. The battle of Buxar was fought between |A) TEETIT WHH T4 wWE sneH wEE
[A) Bahadurshah I & Shah Alam [ (B) % A fgdm T Hn w=ifuR
(B) Shah Alam II & Mir Qasim |C} == %@ HERTm WA
[C) Akbar & Rana Fratap (D) 77 4 | i
(D) None of these 35. wHA 1 WfEs TEn ¥4 TWE W 0
345, When was the famous battle of Panipat
o biee  mum
[A] 1539 B) 1556 .
(€] 1565 (D} 1576 36, WEHE IR W A W TR T v A -
|
Mote :The Information Provided here is anly for Befersnce.It may wvary the original.




wwWww.rrbrecruitment.co.in

37.

38,

39.

40.

41.

42,

43,

45,

46

Which of the following does not exercise a (A} B
significant effect on the climate in India 7 (B) wHa T Tl
[A} The monscons (C) T Hmm

[B)] The presence of mountains
[C] Owoean currents
(D} Nearneas to the equator

(D) 94T T B fFEEH
7. WA w A e fEaes W g ety

The third battle of Panipat was fought (A) 3T WE = 3 RS meE
between— (B) TS WE =i HEHE-wE

(A} Ahmad Shah Abdali and Maratha rulers i) 1!1#‘ T2 9Em o SR
[B) Nadir Shah and Mchd. Shah (D) g ECet

[C) Prithvi Raj Chauhan and Md.Gauri

a8, =¥ T 9 9 fFaEr @i w8
(D} Sher Khan and Humayun

Wood is the common name of - A) iﬂ'l"ﬁlﬂ'ﬂ. () S

{A) Cambium [B] Secondary Phloem (C) = (D) fedrm mes

[C] Vascular bundie(D) Secondary Xylem | 39 A 3 g o9 s o WEE T iE #
At which place of Haryana did Lord Krishna T

preach the message o = IA.] S (B} wrrA

(A} Ambala : () Tm D) F==m

[C) Yamuna Nagar; 40, Ffs § & fEoR oY FEE v S -

(4] Abdul Kalam A
(B] Shahnawaz Kl
[C] Khan Abdul _ ;
(D} Ashfaquila K s & :
In 1947 whé : i :

Independent, i

was Haryana a ]

(&) Delhi J 'I&_ﬁt g 'ﬂ.[

(C) Pu m=T F w7

43 mﬂﬂmwwmmﬁi

(4] Toda i :
(C) Paggar RE Ehyeton {A) ¥ T (B) = =
Which was the First Indian Newspaper
among the following ? IC) sf=1 7 D) % fe=eme s
[A} Bengal Gazette [B] Calcutta Journal | 4. FHAMW 9 ¥ 757 99 gan =17
(C) India Gazette (D) The Hindustan times (A] 1 79991, 1966 (B) 1O A= | 1966
When was the State of Haryana formed? (C) 2 7=, 1967 (D) 4 W=, 1967
[A} lst Nov., 1066 (B] 10th Dec., 1966 45, =EE UF wA L @ 0F o o= g -
[q] 2?-;1 Ja.n.., 1967 (D) 4th March, 1967 (A) BfTa (B) 9
Rice is a fruit known as ic) b (D) =7
bt 25 S w7 d e T W e
[C) Caryopsis (D) Drupe 46. fom wen ¥7
With how many states does the boundary (A} 4 E) 5
of Haryana touch? 1<) ﬁ_ . 7
(A} 4 B 5 47. f5 4 8 T =9 A A T Tt I F e
(€ 6 o) 7 e
(&) 5 W

Haote
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47. Which amongst the following now decide the (B} wafa 79 mFn
oil-prices in India ? (C) =i
[A) Ministry of Finance (D) = -
[B) Reapective State !
(C} Ministry of Petroleam 48 feefafed =9 wied i 4 @ T m e )
(D] Ol Companies = # w7
48. Which one of the following union (&) T (B) 9551
Territories touches the boundary of (C) ¢ f==h (D) =4t e
Haryana ? B -
{A] Lakshadweep (B} Pondicherry i ;ﬁ o a:mn Pt A & ¥ w W
[C) New Delhi (D} All the three AT 8 -
45, Ax por the Constilizion of Dk which s of (A) it = ) =
the following is not a Fundamental Right ? (B) =9 F1 i FEm
[A] Right to freedom of religion IC) f=n = wfw=afm Ft =90 T oo
(P Fight to oquatity (D) 5t F1 =PTFR
[C] Right t_u freedom of thought and 50 w8 39 & =i
expression
(D) Right to property = = THA) 44212 f=H (B) 46,213 f&:
50. What is the total a == |cpa8,314 fFF (D) 52,276 fEF
(A] 44,212 km* ‘T S R T Y e e
[C)] 48,314 km* 12,276 km? (A) T (B) Ara ool fEE
51. The Malanda-Proj a amme of the .
ity of s Progr e T o (D) fEm
[A} Culture -
(B] Human Reso
[C)] Minority Aff: f
(D) External
52. How many di G‘, 2I-I=0
(A} 19 S0, HO
[c) 28 T F o3
53. The formula
[A] CaSO
[C) 2Ca80
34. As per census
of Haryana i -87 088 -
(A} 1,91,72,483 persons (D} 2,64.44 371 =T
(B 2,53,53,081 persons 55. WE % wEy T F ) (AT A A o
[C) 2,40,82 088 persons 3
[D) 2.64,44,27]1 persons (A T Brr (B) T
53. Permanent hardness of water can be £
remaved by adding- (C) =Hifen = (D) =fem wr=
[A) Potassium Permanganate 56. TRE ¥ I F e W (G W -
[B) Chlorine (A) 2.00% (B} 2.50%
[C] Bleaching Powder IC) 4% D) 6%
(D Washing Soda 57. afm T TEEE A= T
36. What i_a t]_1c percentage of country’s (A e (B} e
population in Haryana ? .
[A] 2.09% B) 2.50% (C) Frms (D) & 7 e
[C) 4% (D) 6% 58, AW F fFo 9 ¥ HOMLT T Faen @ 7
57. The chemial name of Uria is- (A) =F=3r= (B) == n
[A} Aneurin (B} Chloroetane iC) == (D) R
|
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[C) Carbamide ) MNone of these 50. =FE sin it § wEg 75 A § geieE e 1
538. In which of the districts of Haryana ias the
A) FrER B) fafeEs
H.M.T. factory situated? (A) s (B)
{A) Patiala {B] Ambala 1C) Bt (D) i
[C) Jind [} Faridabad 60, FEm # wEn TEm T eE §7
50. The element present in the largest amount {A) T (B} TEE
(A} Carbon |{B) Silicon B
61. TEHHIEE # mE AEET S f-
[C) Hydrogen 1D} Aluminium
60, Where is the Atlas Industry in Haryvana (4] S B I_' el
situated? (C) F7ome (D) =t
[A) Scnipat [B) Gurgaon 62. 5 # @ TR 2O & e 4 fea 37
(C) Hisar {D) Panchkula (A) TR T AR T R
Gl. The most important ore of Aluminium is— {B) Br=fs T 3 fEEEm
[A) Bauxite |B] Calamine I
[C} Calcite (D) Galena (C) zrr-g Ft i
62. Which one of the I'nllw.nng is mtuatl:d_l.n P L i =i
A3 ﬂ‘! wreFmE F 7 v ¥ Fe-m el
[A) Manufacturing g |
[B) Manufacturi (A P1 B} P2
[C) Manufacturin iC) P3 o] P4
(D All the above i e % U mw H R e
63. White Phosphorow ; 'y
among the followin
[A] P1
B + wigs
---------- = - “hl
1 =7, 1996 ¥
e o T ?
635. 1997
. 1997
G, Odinance I‘cE.B.TI:'lI‘.I.E the prnh:hltmn of SR . -
aleohol was passed on 1st July, 1996 Later [A) sFEET {B) ErETaEsET
on it was withdrawn on— (C) = (D) TE=riiFm
(A) 1ot Apil, 1998 [0) lat Apeil, 1997 68. i # @ fm T A & v A B A
[C] lst June, 1998 (D) lst Aug., 1997 Far T
67. Cooking oil can be converted into vegetable
ghee by the p o {A) 1968 (B} 19270
B : |C) 1972 (D} 1976
[A) oxidation (B) hydrogenation 1
(C) distillation (D eryatulination 69. T 9 1@ fFa i T e ez & wha T
68. In which of the following years was cach Fit wfa W o WA o -
village of Haryana electrified? (A) winfzrim IBj ¥
(A} In 1968 (B] In 1970 (C) Hri= (D) T ey
(G In 1072 ) In. 1976 70. 2001 F I F wgEw wEm d mew w
&9, Which of the following gases is obtained by wiEwE T B
the reaction of water with calcium carbide— [A] 62.40% (B} 55.85%
[C] Methane (D) Water gAs
|
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T0. According to 2001 census what is the
pcrccnta;: of Literacy in Haryana ? 1. T e (NRM) SR % R T W e
[A)} G2.40% {B) 55.85% 7
[C) 65.72% (D} 67.9% (A) =reH (B) =ewEn
71. The National Rurban Mission [NRM) has (C) wirm (D) FwoEn
been launched in which state of India? 72. FEmET wEM S S = ow oA 67
(A} Assam (B) Madhya Pradesh (A i e = S
[C] Chhattisgarh ([} Uttar Pradesh (B) TF fammE # wew § w59 ¥9 Aon W %
72. Why do colloidal substance do not i
deposited below 7 () > wiw 5 =i ¥
(A} Specific gravity is leas D) 3 iy &
[(B] It is of wvery less amount in respect of Tl ﬁmmﬂiﬁqﬂulﬁﬁmﬁtmﬂﬂ
solvent i -
[C) They carry clectrical charges (A] i T (B) TEA T
(D) They are converted to solvent (C) Rl (D) fFe=m 583
73. Who has won the 2016 Oscar award for | 74, #F0m & 750 oy woam 50 oned 59
technical achievement? w7
(A) Nitin Gupta o = | ) few (B) T H
ty Btnal. e = == |y Fam A (D) =% &
EE]' ;L_‘“‘;Eli“‘“ 75 I 2016, WA ¥ 9§ A Fe-w In F e
s Lma
74. Where has the Na = 12
in Haryana been &
[A) At Sirsa
[C) At Karnal = AN
75. Shakt 2016, is
of India with w
[A] Japan :
[C) Russia ' ¥ =R ey
76. Which of the foll
the capital o
[A} Cha
[C] N
77. Which of the = =i =
as Personali j
[A] Facebook |B) Google {A) 939 (B} 98. M=
[C] Yahoo India D} Microsoft |C) g (D) farg
Ta. illii:h one of the l':rllnwins folk dances | 7o f&g spdE wiHerd =@ [CCN % w8 F w1
ongs to Harvana ?
[A] Baoul |B) Yaksha-Gaan m’?&h
[C) Gidda (D} Biehu
79. Who has been appointed as the new (B) mﬁ
chairman of Competition Commission of (C) =i® e HwE
India (CCI)? D] 9% F91
[A] DK Sikri (B] Amitabh Kant a0, frafaten wed o 4 F FhE A HEAE T
[C) Ashok Chawla (D} Dhanendra Kumar {A) T AR (B) Ffu= 33
BO. Which of the following Indian players EEwent ST
belongs to Haryana ? $ ) e =)
(A} SBunil Gavaskar
[B) KapilDew
[C) SachinTandulkar
(D} Azharudeen
|
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fém (vH, 81 3w 82) W faw oW W
T TEwT U & I S
T

miEe & oF mieET 9w £, 6 Ty I o WR g
TR Sfe 96 A # Fn a5 Tl | T,
#= wiv FT T WE-9H T T aetow = e T,
Tl e T i e B
Tl TR T=9 T W TAT - B O, ST §
T §, m s e § s s s A A
e FEE 81 TR 3w F aEE F oW AW e
Fgr 71 TR I H s e I o A9 W
8l TR F FAM AT 7

(A) Fiag orda =i Ao

(B) ©wE #1 R 95

(C) Ffaa vl =i ¥em 3R ) =

(D) Tam A S = ==

91. S5he is disguisted ......... their habita.
Choose the most suitable answer.
{A) under (B} with
(C) off (D) up

92. Synonym of bonhomie is
{A) friendliness [B]) cheat
IC) threaten (D) pacify
93. Antonym of sublime is
{A} reaction |B] base
{C} resistance (D) magnificence
A large crowd used to ........ to listen to his
speech.
Find the correct verb.
1A} follow (B] gather
IC) deliver (D) collect
Why do you waste your time? The correct
Passive Voic will be
{A] Why is your time wasted by you?
_ —iB) Why is time been wasted by you?
= |C}:Why has time been wasted by you?
~ |0 Why i=s time being wasted by you?

Q4.

93,

a2 o hilaik | Directions (Q.Nos. 96 and 97) Find the suitable
() = = == indirect speech.
B} =7 7=F F Priva asked me, “Did you see the cricket
[C) = =iF= 5 2k i i
. her I saw the
D) =7 g Bion the carlier
B3. “Suervision' 1 39
(A} wgEER her 1 had scen the
iC) T vision the previous
B4 W il'ﬁ::_%‘r. see the cricket
(A) TEOA EF T t night
{c) =7 Fi I had seen the
' ion last night
i will leave for her
(A} Fro=rm
(C) e ol fia that Mona will leave
B6. Wi, T for h.cr native place tomorrow
3 fl ; (B} David told Anna that Mona left for her
tA) . Tt B ﬁi& native place the next day
iC) f9er o= (D) T {C) David told to Anna that Mona be leaving
B7. Y ¥ SEE for her native place tomorrow
A} A B TEE (D} Davwid told Anna that Mona would leave
(A) []Ffﬁ!T for her native place the next day
(C) 7= D) Directions [Q. Nos. 98 and 99) Find out the
BE. 'mi' W= F oEmd A f part which contains an error. If sentnece is
(A) T B) e mrﬁn,?l:_urﬂnrmu_ril[ﬂl.
{C) e (D) =Fm 98. The minister l'D.r"Educ-atln‘n [A)/ vehemently
e Y . refused (B)/ the allegation that he had
B9. ¥~ % W v = E et taken bribes. (C)/ No error (D)
(&) FFFET [B) #ET 99,  If l'were Zubin [A)}/T would not attend (B)/ the
() FEm (D) wFrE wedding, come what may. (C)/ No error (D)
i 2 2 100, If I had more money, 1 ....... build a temple.
.
00. Reminder 7 fi % 70 F79 ¥ | Wil b Hlking ‘whrd.
iA) TEEEE (B) = W =7 (A] could (B) had
(C) FeiFa swEw (D) =T IC) did (D) will
|
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